POSSIBLE SENTENCE STARTS FOR ACE RESPONSES AND ESSAY WRITING
	CITING EVIDENCE:
	EXPLAINING EVIDENCE:

	According to the text…
	This shows that ________, because…

	The text states…
	This proves that ________, because…

	The author/narrator says…
	This suggests that _____________, because…

	The text says…
	This exemplifies ____________, because…

	On page _____, the text states…
	This is an example of ______________, because…

	An example from the text is…
	This supports the argument, because…

	The story mentions…
	This shows that ___________________, because…

	In paragraph ______, the text says…
	This quote demonstrates that ___________________...
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